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Q.1 Choose 'the correct option for the following : [i0]
1. is used as fire extinguisher.
(a) DDT {(b) CCl4 {c) CHCl;  (d) Chlorobenzene
2. is used as non-inflamable.
(a) Styrene (b) Benzene (c) Fluoroalkanes (d) Ether
3. bond is present in organic compound,
(a) Covalent {b) Ionic (c) Metallic {d) Hydrogen
4, The bond angle in PCls molecule is
(a) 90°&180°  (b) 90°&120° (c) 90° (d) 90°&200°
5. not follow the octet rule. '
(a) Cl, (b) BF, (c) HF (d) NH3
6, Theshape of the H,0 molecule is
~(a) Tetrahedral  (b) Linear (¢) Octahedral (d) Plane triangle
7. In K4 [Fe(CN);s], Lewis acid is .
(a) K* (b) Fe™ ()CN  (d) Fe*?
8.  The electrical charge of EDTA is L
(a)-1 (b)-2 (©)-4  (d)-3
9. is a unit of rate constant of the third order reaction.
(a) litPmole™?sec (b) lit/mole (c) mole/lit (d) sec™
10.  Which information is obtained on the basis of chemical kinetics ?
(a) No reaction will take place (b) Rate of readfioh’
(c) Cocentration of reactant (d) Cocentration of product
Q.2 Fillin the gaps : [08]
1, Carbocations are Lewis {acld/base)
2. Isobutyl bromide is a alkylhalide (2°/1°)
3. Numbers of bond pairs in CH, Is (4/6)
4. Numbers of lone pairs in XeF, is (2/3)
5. The co-ordination number of Mn in [Mn(en),] Cl; is (6/4)
6. The oxidation number of Fe in [Fé(CO)s] is (one/Zero)
7.  Arrhenius equation is (K = -A.e®R/K = AR,
8. unit of rate constant of zero order reaction,

(mole.lit*.sec’’/lit.mole.sec.™)
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Answer the following : [ANY TEN] [20]
Give the difference between Syl and Sy2 reaction. |

Define : {(a) Benzyne (b) Carbocation,

Complete the following reactions.

(a) Neopetane M _?

(b) 2,4 - Dinitrochlorobenzene NH;, 170°C -7

Give the difference between 6 - and 1T - orbitals.

State and explain "the octet rule”,

Draw the shape of NH; molecule.

Define : (a) Ligand (d) Chelate effect.

Write the name for [Ni(C0)41° and [BrF,] .

Write the name of ligand and structure of CO3 abbreviation.

Give the difference between Molecularity and Order of reaction.

Define : (a) Rate of reaction (b) Elementary reaction.

Give the characteristics of second order reaction.

Answer the following : [ANY FOUR] [32]
Complete the following reaction and give mechanism.

Chlorobenzene NH.", lig.NH; . ?

Write all the possible isomeric structural formula and IUPAC name for

the compound having molecular formula CsHy,Br. Classify the_"n’; as
1°, 2° and 3° alkythalides. |
Using VSEPR theory, explain the geometry of IF; and SF,.

Draw and explain the molecular orbital diagram of O, molecule.
What are chelates ? Give the classification and uses of chelates.
Discuss the classification of d - block elements in 3d and 4d series.

The rate constant of one reaction is 1x10™ mln ! at 27°C and 2x10™ min™
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at 37°C. Calculate the activation energy (Ea) and its rate constant at 47°C, [@’ B'QIEJ

What is integrated rate law ? Derive integrated rate law for first order

reaction.
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Q.1 oflAouaizl 0 fusecu uxie sA. [10]
; (R ilBotaidis adls qua 9.
(a) DT (b)CCl,  (c) CHCl;  (d) sARA(oXKof
 T— Piol-vacoielld adld auaa 8.
(a) 2erdlal (b) Albsar  (c) SIAR Ico (d) g2
3.  sltololls izllovoldti cuvcnrians oift B 9.
(a) d6Nws . (b) vRuclls  (c) Eicdla (d) GIER¥ol
4. PCl; sl oit QY .......... 8. .
(a) 90°&18Q° (b) 90°&120° (c) °0° (d) 90°&200°
B weereensn 21822 BRI Vg1l 012l
(a) Cl, (b) BF; () HF (d) NH;
6.  HO uYoll MR ..o, 9,
(a) AHUYNEAS (ip)iﬁﬂea (c) vesas (d) wudfea Psiel
7. Ke [Fe(CN)6l, Hiy vevvrnene. g (Lewis) 2xfls D,
© (a) Kt (b) Fe*® (c)CN~  (d) Fe*?
8. EDTAl Ruga wed ... 9.
(a) -1 (b)-2 (c)- 4 (d)-3
9. gluasaell ulaedl do vivcusel s ......... 0.

(a) M2 Na2Ases? (b) Mer/Aa  (c) MNat/MHer (d) Asos™
10. =ualis afdlon wuad sd aledl una e B,
() 91 ulban ad) ol (b) ulkRlial oy
(c) uibsoll 2uigd| (d) olluerel} 2Aigall

Q.2 el *pa ya. - - [08]
stollBeiiol GUA (LeWis) vovevrerens 0. (Jefls/agx)
sudadoyade ouds......... viesia sends B. (2°/1°)

. CHsai 938G oitt 5195 Poalloll AVAL ..oeeee. 3. (4/6)

4.  XeF,#i 3@ Asa dAset Paoll ival .......... 9. (2/3)
[Mn{en)s]Cls 3t Mn oll Ruadl eioiR ............ 8. (6/4).

6. [Fe(CO)s] &l Fe ot ¥sall32tal diviR.......... 0. (As/Yod)

y JE— . SRt 20fllsaw 8. (K = -A/RTYK = ATy

8.  gousaoll ulbuel A iAGUs ol NsH ........... 8.

(. Riez " 3s05™ /Razz.alle "sos ™)
| 3




A N

ofldoll uelloit ovciot i, (siduey £21). [20]
astad 200 : Syl A Sy2 ubal

el ol (a) RoRldoi (b)stoliF2iuel,

ofRQAofl ulban ol s,

(a)  oflelUozof Erz, hv ?
(b) 2,4 - sidondl SEAAAGMMs0l NHs, 170°C. 2
astaa Al : 6 ial 7 - AYSESN,

52 o 2l w1t @AY,

NH; 21l dusie A,

QUvAl W : (a) Redwtes (b) AMAe MziR

[Ni(CO)4]° @10t [Brf,] of ottat il

2l Cos7 ot Ridltos of oyt 21 cleuella 2t @i,
agtdd 200 : anfeasar v ulben su

Qv 20Ul : (a) el Qi (b) weths u[%eu

[&ela saofl uBenel) cﬂ&lleﬂsm N,

ofldott uLollotl vatet erd), (siduwt uR) [32]
ool uBerr yul s wiat BaRe wirid,

sclll Glfoxset NH, lig.NHy, 2

CsHyBr uRaIgy YA G1ddl Adlrotoll AsA Aa Meal oE1-%EL
oitilre(ly P (Structural formula) 18 IUPAC ottt 1w, Qaer olen o
cituefla Pt ¢ 1°,2° and 3° vlesida deuds wudl wlisu sA.
VSEPR Ritticiofl aeeell IF; 2ol SF, vigpeilofl aiusnt uail,

0, miig;oh siedly sais Ald a2 20Av AA A AHANA,

Al@e (Chelate) Me@ gf ?, Ald2o] adllsrul v Guabod winil.

d- oells dra (d-block element) 3ti 3d 10! 4d fAellede] wliszer HAAL.
27°C aruaiial @15 uldanell o vlous 1x10 Mibie! il 37°C angaua)
W1 viaous 2x10° b’ 9. ulbaicll uBasawr Gl (Ea) el 47°C

- dnpia v ulaied A1 viuousoll awad s, [R= 3314 4]

Risfia dotoll [Bram Ned gf ? w2 saoll ulened 2isfua A% Braat
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